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HAE(E - > ol B NUIE mg./1| mg/| mg/| mg/| | mg/I mg/||mg/ 1| mg/I| mg/| mg/l |mg/ 1] — |mg/I
g el || B LTI it mg/l | mg/I 5| mg/l | mg/1 | mg/I | mg/I BT mg/| LI | LR mg/| | mg/1 | mg/| SR |2 F | B0F | B mg/l{mg/| BIF el LT
& & | T T UTF [T UTF [T T |UT UF T | BF | BAF LT [T
| ®E)|a/md (mg/1)|(mg/D[(mg/1)|(mg/D| (mg/1)[(mg/D|(mg/)]|(mg/1)[(mg/)[(mg/1)](mg/D[(mg/1)](mg/D)|(mg/)[(mg/1)] (mg/D|(mg/1)] (mg/N] (mg/1)|(mg/N| (mg/1)| (mg/1)|(mg/1)| @/100)|(mg/1)
AIFFE=% [2006am1] 72| ®BuL|®RAL] <[ 0.1 0| FHat 6.5 <0.3
SAIBFE=% [2016/5/9] 7.2]manL|manL] <1 <041 0[] 0.002[<0.001] 2.6] 0.41]<0.002]<0.002<0.001]<0.003]<0.001]<0.001]<0.004] <0.003] <0.001{<0.001] <0.005 6.8 92| 200 <0.05] <0.3 <0.004
B E=% [2016/6/6] 7.2|®wuL|®EsL] <[ <0.1 0| FHat 6.6 <0.3
AIGE=% |2016/7/4] 7.7|mesL|mes] <[ <04 0| et 6.5 <0.3
AIBFE=% [2016/8/1] 7.2[mmmL|manl] <] <04 N <0.001]  3.3] 0.44[<0.002]<0.002]<0.001] <0.003] <0.001]<0.001]<0.004] <0.003] <0.001] <0.001] <0.005 6.8 0.05] <0.3 <0.004
AIGE=% |2016/9/5] 7.2|musL|mesL] <[ <04 0| et 6.7 <0.3
AIFFE =% [2006103] 7.2|®EuL|®RaL] <[ <0.1 0| FHat 6.9 <0.3
AIFE=% [ooem| 72|mwuL|ssu] | <041 N <0.001]  3.0] 0.37[<0.002[<0.002]<0.001] <0.003] <0.001]<0.001{<0.004] <0.003] <0.001] <0.001{ <0.005 6.8 0.08] <0.3 <0.004
IFFE =% [20612/5] 7.2|®EuL|®waL] <[ <0.1 0| Fiat 6.8 0.4
SAIBRE=% |2017/116] 72| mumL|munl| <1 <0.1 0| A 6.7 <0.3
AIBFE=% [2017/2/6] 7.2[mmmi|manl] <1 <04 N <0.001]  3.0] 0.37[<0.002]<0.002] <0.001] <0.003] <0.001]<0.001]<0.004] <0.003] <0.001] <0.001] <0.005 6.7 <0.05] 0.4 <0.004
SAEE=% 201736 7A[meuc[mesl] <] <0. 0| Figtt 6.5 <0.3
SAITBREM S | 2016/4/11] 74| mumL|munl] <1 <0.1 O Tzt 45 <0.3
SAIEFEE PN | 2016/5/9] 7.4[mmmi|mssL] <1 <04 0] F#]0.001[<0.001]  3.0] 0.10]<0.002]<0.002]<0.001] <0.003] <0.001]<0.001]<0.004] <0.003] <0.001{<0.001] <0.005 47 89 190 <0.05] <0.3 <0.004
SAIEPEEM R | 2016/6/6) 7.4|mwni|®EaL] <] <0.1 ES:EE] 43 <0.3
AIEBFEMmMFR  [2016/7/4] 7.9][mmmL|manl] <1 <04 N 46 <0.3
SAIEFE MK [2016/8/1 7.4[manL|masL] <1 <041 N <0001 3.6 <0.002] <0.002] <0.001] <0.003] <0.001] <0.001]<0.004| <0.003] <0.001] <0.001] <0.005 47 0.05] <0.3 <0.004
AIEFEMMFK  [2016/9/5] 7.4[mmml|manl] <] <04 N 48 <0.3
SAIBREM S | 2016/103] 7.3 mumL|munl| 0.1 0| A 49 <0.3
SAIEFEEMM R [2006/11/7] 7.3[®MmL|®RuL] <] 04 N <0001] 3.2 £0.002] <0.002] <0.001] <0.003] <0.001] <0.001<0.004] <0.003] <0.001] <0.001] <0.005 4.8 0.09] <0.3 <0.004
SAIBREM S | 2016/12/5] 7.3 mumL|manl| 0.1 0O Tzt 4.8 <0.3
AIEFEMR  [2017/1/16] 7.3|®EmL|®EaL] <[ <0.1 D ESET 4.8 <0.3
SAIBFE MR [2017/2/6] 7.3 manL|manL] <1 <04 N <0001] 3.3 <0.002] <0.002[ <0.001] <0.003] <0.001] <0.001]<0.004| <0.003] <0.001] <0.001] <0.005 47 0.07] <0.3 <0.004
AIEBFEMmMFK  [2017/3/6] 7.3[mmmL|manl] <] <04 N 46 <0.3
Hit % 2016/4/11] 7.0|EBuL|®ERL] 1] <0.1 0| Rtk 6.5 <0.3
EETER 2016/5/9| 7.1[®muL|®®uL] <1 <041 N <0.001]  5.0[<0.05[<0.002[<0.002] <0.001] <0.003] <0.001] <0.001{<0.004] <0.003] <0.001] <0.001{ <0.005 6.5 69] 170 <0.05] <0.3 <0.004
Hit % 2016/6/6] 7.1 |®wuL|'saL| <[ <0.1 0| Fiat 6.2 <0.3
EETER 2016/7/4] 7.5[®#nL[REsL] ] <0.1 W ES 6.2 <0.3
EENER 2016/8/1] 7.0[mawL|masl] <1 <041 N <0001] 5.8 <0.002] <0.002] <0.001] <0.003] <0.001] <0.001]<0.004] <0.003] <0.001] <0.001] <0.005 6.5 0.05] <0.3 <0.004
BH % 2016/9/5| 7.0|mauL|zesc] <] <04 0| Figt 6.8 <0.3
EENER 2016/10/3| 6.9|EwuL[®wuLl <] <0.1 0| FHH 6.6 <0.3
RS ER 2016/11/7] 6.9|®BaL|®Eac] <] <0.1 N <0001] 55 £0.002| <0.002] <0.001]<0.003] <0.001] <0.001/<0.004| <0.003] <0.001] <0.001] <0.005 6.4 0.08] <0.3 <0.004
EENER 2016/12/5| 70| ®®muL[®wuL) <] <0.1 0| FHH 6.4 <0.3
EERER 2017/1/16 7.0 BE¥LL| EHLL <1] <0.1 Q| FigH 6.3 <0.3
EENER 2017/2/6] 7.0[®awL|masl] <1 <04 N <0001] 5.7 <0.002] <0.002] <0.001] <0.003] <0.001] <0.001]<0.004] <0.003] <0.001] <0.001] <0.005 6.6 <0.05] 0.3 <0.004
Bi % 2017/3/6] 7.0|mauL|zesl|  <1] <04 0| Figt 6.3 <0.3
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HAEZ=% [2006411] 76|8%uL|m8s| <[ <0.1 0| FHat 55 <0.3
AHE_F [2016/50] 7.6/2uu|mes] <] 0. N <0.001] 2.8 0.73[<0.002] <0.002]<0.001]<0.003] <0.001] <0.001]<0.004] <0.003] <0.001{<0.001] <0.005 54| 86 290 0.05] <0.3 <0.004
BAME_—% |2016/6/6] 7.5|=uul|2eu]  <1] <0.1 0| Figt 52 <0.3
AHE_% |2016/7/4] 7.9[®enL|mesL] <1| <041 N 53 <0.3
HHFE=% |2016/8/1] 7.5[28uc|®rs| <] <0.1 N <0.001] 2.4] 0.70[<0.002] <0.002] <0.001] <0.003] <0.001] <0.001]<0.004] <0.003] <0.001{ <0.001] <0.005 56 0.07] <0.3 <0.004
AME_—ZF [2016/9/5] 76]muu]z2su] <] <0.1 NEE 34 <0.3
HAE=% [200610/3] 75|'%uL|gssL| <[ <0.1 0| FHat 30 <0.3
BAHE_F |06 74][2esc[ges] <] <0.1 N <0.001] 2.9 0.60{<0.002] <0.002]<0.001]<0.003] <0.001] <0.001]<0.004] <0.003] <0.001{<0.001] <0.005 60 0.11] <0.3 <0.004
HAEZ=% [20612/5] 75|'%uL|gssL| <[ <0.1 0| FHat 76 <0.3
HHFEZR |207/1/16] 75[28u[@a] <] <0.1 0| FigH 68 <0.3
HFFEZ% |2017/2/6] 7.6[2%uc|®u| <] <0.1 N <0001 2.6] 0.72]<0.002] <0.002] <0.001] <0.003] <0.001] <0.001]<0.004] <0.003] <0.001{ <0.001] <0.005 50 <0.05| 0.3 <0.004
AME_—ZF [2017/3/6] 75|meus]e2su] <] <0.1 N 68 <0.3
EIER 2016/4/11] 7.7] Rl BEnL] <] <0.1 0| FigH 8.0 20 <0.3
EEHR 2016/5/9] 7.6[BeuL|meun]  <1[ <041 0| F#:t] 0.002(<0.001[ 7.8 <0.002]<0.002] <0.001{<0.003] <0.001] <0.001]<0.004 <0.003] <0.001] <0.001] <0.005 20 75 280 <0.05| <0.3 <0.004
EEES 2016/6/6] 7.7| ®msL|meaL]  <1| <01 ST 7.3 19 <0.3
[EEIER 2016/7/4| 7.9[EWuL|B%uL] 0.1 0| Tt 7.2 19 <0.3
E3ER 2016/8/1| 7.7|®#ul|zeal]  <1] <04 N <0001 7.4 <0.002] <0.002] <0.001{<0.003] <0.001{<0.001]<0.004 <0.003] <0.001] <0.001[ <0.005 20 <0.05| <0.3 <0.004
EE5ER 2016/9/5| 7.7|®%uL| %46 <1]| <0.1 0| Tt 8.3 23 <0.3
EEER 2016/10/3] 7.6|®%uL|RELL] <] <0.1 o[ Faam 3.8 11 <0.3
EE5ER 2016/11/7] 7.6 B%uL|®EuL] 1| <0.1 N <0001 7.2 <0.002]<0.002] <0.001{<0.003] <0.001] <0.001]<0.004 <0.003] <0.001] <0.001] <0.005 20 <0.05| <0.3 <0.004
EEER 2016/12/5] 7.7|R#uL|®euL] <] <0.1 0| FigH 8.3 23 <0.3
EE5ER 2017/1/16] 7.6|E%uL|®¥6L] <1 <0.1 0| Tt 6.6 19 <0.3
E3ER 2017/2/6] 7.7|®#ul|'wal]  <1] <04 0| Figtt <0001 9.1 <0.002] <0.002] <0.001{<0.003] <0.001{<0.001]<0.004 <0.003] <0.001] <0.001[ <0.005 24 <0.05| <0.3 <0.004
[EEIER 2017/3/6| 7.6|B%uL| %6 <1]| <0.1 0| Tt 8.9 24 <0.3
INEER 2016/4/11] 6.9 B%uL|®¥uL] <1 <0.1 0| Tt 6.1 <0.3
INEER 2016/5/9] 6.9|®amL|EEn| <[ <041 0| Figtt <0001] 2.3 <0.002] <0.002] <0.001{<0.003] <0.001{<0.001]<0.004 <0.003] <0.001] <0.001[ <0.005 6.3 190 <0.05| <0.3 <0.004
INEER 2016/6/6| 6.9|2#uL[®uuL| <[ <01 0| R 6.1 <0.3
INSER 2016/7/4| 7.4|m8uc|resl] <] <01 0| R 5.9 <0.3
IN=ER 2016/8/1| 6.9|®amL|&¥uc| <[ <04 0] Fa <0001 25 <0.002.] <0.002] <0.001] <0.003] <0.001] <0.001[<0.004 <0.003] <0.001] <0.001] <0.005 6.1 <0.05| <0.3 <0.004
ENEER 2016/9/5| 6.9| mauL|zenl|  <1] <04 N 6.5 <0.3
INEER 2016/10/3] 6.8 E#uL|®#uL) <1 <0.1 0] Rttt 6.7 <0.3
INEER 2016/11/7] 6.8 2anL|meus] <1 <01 0| Figt <0001 1.8 <0.002.] <0.002] <0.001] <0.003] <0.001] <0.001{<0.004 | <0.003] <0.001] <0.001] <0.005 6.6 <0.05] <0.3 <0.004
INSER 2016/12/5| 6.8|BauL|[®#uL]  <1[ <01 NES:ET 6.4 <0.3
ENEER 2017/1/16] 6.8 2anL|meun] <1 <01 N 6.8 <0.3
INEER 2017/2/6] 6.8| ®amL|E¥uc| <[ <04 N <0001 26 <0.002.] <0.002] <0.001] <0.003] <0.001] <0.001[<0.004 | <0.003] <0.001] <0.001] <0.005 6.7 <0.05| <0.3 <0.004
ENEER 2017/3/6] 6.8|mauL|muusl| <] 02 N 6.0 <0.3
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BEEE=% |[2016/4/11] 82|mHHL|BELL <1] <01 [ ESETE 4.7 0.3
FEERE=% |2016/5/9] 8.2|mumL|®mEnL| <] <0.1 0| ##H[0.004[<0.001] 2.0] 0.14]<0.002]<0.002]<0.001] <0.003] <0.001| <0.001<0.004 [ <0.003] <0.001[ <0.001[ <0.005 48 180 <0.05] <0.3 <0.004
MEfE=% [2016/6/6] 8.2|®wmL|®EnL| <[ <0.1 0| FHat 4.6 <0.3
FEEREE =% [2016/7/4| 8.3[mmuL|mauL] <1 <041 0| Figt 4.6 <0.3
FEE=% |2016/8/1] 8.3|mmL|®mEuL| <] <0.1 0 =] 0.004]<0.001] 2.3] 0.21]<0.002]<0.002] 0.0015] <0.003] <0.001] <0.001]<0.004] <0.003] <0.001{ <0.001] <0.005 4.9 0.06] <0.3 <0.004
BEE=% |2016/9/5] 8.3|mumL|munL| <1 <0.1 NEST 49 <03
FMERE =% [2016/103] 8.2|®mmL|®EaL| <[ <0.1 0| FHat 5.0 <0.3
BEE=% [2006/117] 8i|memL|menL] <[ <0.1 0| ##H[0.004[<0.001] 2.2] 0.16]<0.002]<0.002]<0.001] <0.003] <0.001| <0.001<0.004 [ <0.003] <0.001[ <0.001[ <0.005 49 0.09] <0.3 <0.004
BEEE=% |[2016/12/5] 81 |mEuL|BE5L[ <] <01 0| Fa 48 <0.3
BEE=% |2017/1116] 81|menL|munL] <1 <0.1 0| Rz 5.0 <0.3
FEE=% |2017/2/6] 8.1|B¥uc|®EuL| <] <0.1 0] =] 0.004]<0.001] 2.2] 0.22]<0.002]<0.002] <0.001]<0.003] <0.001] <0.001[<0.004] <0.003] <0.001[ <0.001] <0.005 4.9 0.07| <0.3 <0.004
BEE=2% [2017/3/6] 8.0|munmL|munL| <1 <0.1 NEST 48 <03
EERED 2016/4/11| 7 3[®euL|®¥sL] <] <0.1 0| Rz 2.7 <0.3
R 2016/5/9| 7.4|®wuL|'uaL| <[ <0.1 0| Rtk <0.001 <0.05]<0.002] <0.002] 0.0050] 0.004] <0.001] <0.001]0.0070] 0.004 [ 0.0020[ <0.001[ <0.005 2.6 0.06] <0.3 <0.004
EFEER 2016/6/6 7.3| ®m#uL|menL|  <1| <0.1 N 25 0000 <amomn 0.3
JEith % 2016/7/4| 7.5[®MmL[®RuL] <1 <0.1 0| Faat 2.8 0000001 <0uoovor 03
ErfiER 2016/8/1] 7.3|®%sL|E¥uL| <1| <041 0| FigH <0.001 <0.002[<0.002 0.0071] <0.003] <0.001[<0.001] 0.009{ 0.003]0.0022] <0.001]<0.005 29 <oooooor| woooovo1| 0. 1[ <0.3 <0.004
FoER 2016/9/5| 7.3[E®uL|®%sL]  <1] <0.1 0| Tt 3.1 <0.3
EERED 2016/10/3| 7. 2[®euL|E¥sL] <] <0.1 0| Rz 25 <0.3
R 2016/11/7) 7.3| ®xnL|®%uL| <[ <0.1 0| Rtk <0.001 <0.002]<0.002[0.0061] 0.005] <0.001] <0.001] 0.008] 0.007] 0.0016] <0.001]<0.005 3.0 0.14] <0.3 <0.004
EEREED 2016/12/5| 7 3[®euL|®E¥uL] <] <0.1 0| Rz 3.1 <0.3
R 2017/1/16] 7.2| ®xuL|®%uL| <[ <0.1 0| Fiat 25 <0.3
BAEER 2017/2/6] 7.3|®¥sL(E¥6L]  <1| <041 0| FigH <0.001 <0.002]<0.002[ 0.0019[<0.003] <0.001] <0.001]<0.004 | <0.003] 0.0010] <0.001 <0.005 2.8 <0.05| 0.3 <0.004
PEiER 2017/3/6| 7.2(E®uL|BHuL] A 0.2 0| Tt 2.1 0.3
ER% 2016/4/11| 7.1 | B¥uL| BELEL <1| <0.1 0| Ttz 5.1 06
RiR% 2016/5/9] 7.2|®wuL|mEnL]  <1] <0.1 0| FigH <0.001 <0.002[<0.002] 0.0230[ 0.008] <0.001[<0.001]0.0240[ 0.020] 0.0010] <0.001[<0.005[0.018] 5.4 0.12] 05 <0.004
ER% 2016/6/6] 7.2|®wuL|REsL|  <1[ <0.1 P ESET 5.4 0000001 | 0000001 05
RR%R 2016/7/4] 7.4|mmnL[ERul] ]| <04 7| T 51 0.6
RR% 2016/8/1| 7.2| B%uL| BHnL 2| <0.1 44| FigH <0.001 <0.002][<0.002] 0.032[<0.003] <0.001] <0.001] 0.033] 0.009]0.0015 [ <0.001[<0.005 5.1 <oooonor| 0coocoi| 0,30 0.9 <0.004
IBRR% 2016/9/5| 7.1|®¥uL|®¥uL]| <] <0.1 0| Tt 6.0 0.7
ER% 2016/10/3[ 7.1| B#al| Bstl <1] <01 Al | T 6.3 0.8
IBiR% 2016/11/7] 7.0]®esL]'wsL] <] <0.1 0| Fig <0.001 <0.002]<0.002[ 0.017]0.014]<0.001] <0.001] 0.017] 0.021]<0.001]<0.001]<0.005 5.7 0.34| 05 <0.004
ER% 2016/12/5( 7.1| B#tl| Bsul <1] <01 M ESET 55 0.5
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